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1.Terrorism means the policy (1)/of striking terror 
in(2)/ the mind of the people by violent(3)/ 
methods to achieve some ends.(4) 
A) (1)  B) (2)  C) (3) 
D) (4)  E) No error. C  minds > minds 
               
2.Ransomware is a malicious software, 
(1)/designed to block the access to any computer 
system,(2)/ holding the owner to ransom till(3)/ 
the demanded sum of money is not paid.(4)
A) (1)  B) (2)  C) (3) 
D) (4)  E)  No error. 
D  not paid > paid  
               
3.India is an agrarian country by  around two third 
(1)/of its population making living from the land. 
(2)/Around 66 per cent of rural laborers are 
dependent on(3)/ agricultural activities for their 
income.(4)  
A) (1)  B) (2)  C) (3)  
D) (4)  E)  No error. 
A  by > with  
               
4.The reservation was undertaken(1)/ to tackle the 
historic oppression,(2)/ inequality and 
discrimination(3)/ faced by members of bac
communities.(4) 
A) (1)  B) (2)  C) (3) 
D) (4)  E)  No error. E  No error . 
               
5.largest contributors (1)/to the corruption are 
entitlement(2)/ program and social spending 
(3)/schemes ratified by the Indian government.(4)
A) (1)  B) (2)  C) (3)  
D) (4)  E) No error. 
A  Use THE before largest. 
               
6.One thing that was quite positive about the 
software industry(1)/ was that even a person from 
a non-middle class (2)/and non-affluent 
background, who is not (3)/very fluent in English
could get into the industry.(4)  
A) (1)  B) (2)  C) (3)  
D) (4)  E) No error.  C  is > was 
               
7.For a sector that has been(1)/ around for nearly 
three decades(2)/ or more, the absence (3)/of 
worker unions are mystifying.(4) 
A) (1)  B) (2)  C) (3)  
D) (4)  E) No error.  D  are > is
 

MARUTHI SCHOOL OF BANKING

www.maruthischoolofbanking.com, V.K.K.Menon Road,Gandhipuram,Coimbatore

Terrorism means the policy (1)/of striking terror 
in(2)/ the mind of the people by violent(3)/ 

 
minds > minds  

Ransomware is a malicious software, 
(1)/designed to block the access to any computer 
system,(2)/ holding the owner to ransom till(3)/ 

not paid.(4) 
 

around two third 
(1)/of its population making living from the land. 
(2)/Around 66 per cent of rural laborers are 

/ agricultural activities for their 

 

The reservation was undertaken(1)/ to tackle the 
historic oppression,(2)/ inequality and 
discrimination(3)/ faced by members of backward 

 
No error .  

largest contributors (1)/to the corruption are 
entitlement(2)/ program and social spending 
(3)/schemes ratified by the Indian government.(4) 

 

One thing that was quite positive about the 
software industry(1)/ was that even a person from 

affluent 
background, who is not (3)/very fluent in English, 

 
is > was  

For a sector that has been(1)/ around for nearly 
three decades(2)/ or more, the absence (3)/of 

 
are > is 

 
 
               
8.Some IT companies, while maintaining an 
appraisal system(1)/ that is based on customer, 
team and manager feedback, (2)/have even 
removed the rating system, thereby leaving no 
record of(3) performance that can be cited in case 
of a legal dispute.(4) 
A) (1)  B) (2)  
D) (4)  E) No error.
E  no error . 
               
9.One of the primary praxis of his (1)/ politics is 
self-respect, a term that(2)/ has a broad resonance 
in(3)/Tamil Nadu. How do one define self
respect?(4)  
A) (1)  B)(2)  
D)(4)  E) No error. 
D  do > does 
               
10.The department have specified in detail(1)/ the 
procedure for quoting of Aadhaar in(2)/ new PAN 
application and for (3)/changes or correction in
PAN data.(4) 
A) (1)  B) (2)  
D) (4)  E) No error. 
A  have > has 
           
11.When it comes to badgers, passions(1)/ run 
very high in the general British (2)/public. These 
fascinating nocturnal(3)/ animals are much 
admired by animal lovers.(4)
A) (1)  B) (2 )  
D) (4)  E) No error
B in > among 
 
12.A look at migration data suggest (1)/ that the 
number of deaths does not (2)/ necessarily 
indicate the crisis (3)/ that is being described (4).
A) (1)  B) (2)  
D) (4)  E) No error
A suggest > suggests 
 
13.The Superintendent of Tihar Jail said (1)/ that 
Koli had been transferred from Dasna to Meerut 
Jail (2)/ as the first had not facilities (3)/to carry 
out the execution(4). 
A) (1)  B) (2)  
D) (4)  E) No error
C First > former 
 
14.Algae contain a lot of oil and they grow 
(1)/very quickly in water. So we can (2)/ produce 

MARUTHI SCHOOL OF BANKING (MSB)

English - Error Spotting - III 

, V.K.K.Menon Road,Gandhipuram,Coimbatore-44.9600342223 

Some IT companies, while maintaining an 
appraisal system(1)/ that is based on customer, 
team and manager feedback, (2)/have even 
removed the rating system, thereby leaving no 

performance that can be cited in case 

 C) (3)  
E) No error. 

One of the primary praxis of his (1)/ politics is 
respect, a term that(2)/ has a broad resonance 

How do one define self-

 C) (3)  
E) No error.  

The department have specified in detail(1)/ the 
procedure for quoting of Aadhaar in(2)/ new PAN 
application and for (3)/changes or correction in 

 C) (3) 
E) No error.  

11.When it comes to badgers, passions(1)/ run 
very high in the general British (2)/public. These 
fascinating nocturnal(3)/ animals are much 
admired by animal lovers.(4) 

 C) (3) 
E) No error 

12.A look at migration data suggest (1)/ that the 
number of deaths does not (2)/ necessarily 
indicate the crisis (3)/ that is being described (4). 

 C) (3) 
E) No error 

13.The Superintendent of Tihar Jail said (1)/ that 
Koli had been transferred from Dasna to Meerut 
Jail (2)/ as the first had not facilities (3)/to carry 

 C) (3) 
E) No error 

contain a lot of oil and they grow 
(1)/very quickly in water. So we can (2)/ produce 
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biofuel without(3)/ using valuable agricultural 
land(4). 
A) (1)  B) (2)  C) (3) 
D) (4)  E) No error 
E Algae is plural . 
 
15.The Indian government says that (1)/the dams 
will not have a bad effect on(2)/ the environment. 
The new dams(3)/ won’t have a reservoir of water 
behind it.(4) 
A) (1)  B) (2)  C) (3) 
D) (4)  E) No error 
D it > them 
 
16.But we do not know the (1)/ full consequences 
for building (2)/ so many dams on important 
(3)/rivers in the Himalayas.(4) 
A) (1)  B) (2)  C) (3) 
D) (4)  E) No error. 
B for > of 
 
17.One unfortunate result (1)/ of parents’ 
excessive busy (2)/and fast life is the total (3)/ 
neglect of their children.(4) 
A) (1)  B) (2)  C) (3) 
D) (4)  E) No error. 
B Excessive > excessively 
 
18.Communication is not merely the (1)/ desire 
and the responsibility of a scholar(2)/ ; it is his 
discipline , the proving ground (3)/that he tests his 
findings against criticism.(4) 
A) (1)  B) (2)  C) (3) 
D) (4)  E) No error. 
D that > where 
 
19.The manpower for development(1)/ during 
next quarter- century will(2)/ come from the 
world’s present population(3)/ of infants, children 
and adolescents.(4) 
A) (1)  B) (2)  C) (3) 
D) (4)  E) No error. 
B use “the” before next. 
 
20.The joy of discovery(1)/ is a very real 
incentive(2)/ to research despite of (3)/ the 
rareness of its realization .(4) 
A) (1)  B) (2)  C) (3) 
D) (4)  E) No error. 
C remove “of” after despite . 
 
21.With Saudi Arabia, UAE, Bahrain(1)/and 
Egypt cutting out ties (2)/with Qatar, the Arab 
world has (3)/plunged into further turmoil.(4)
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biofuel without(3)/ using valuable agricultural 

 

15.The Indian government says that (1)/the dams 
ll not have a bad effect on(2)/ the environment. 

The new dams(3)/ won’t have a reservoir of water 

 

16.But we do not know the (1)/ full consequences 
important 

 

17.One unfortunate result (1)/ of parents’ 
excessive busy (2)/and fast life is the total (3)/ 

 

18.Communication is not merely the (1)/ desire 
and the responsibility of a scholar(2)/ ; it is his 
discipline , the proving ground (3)/that he tests his 

 

19.The manpower for development(1)/ during 
century will(2)/ come from the 

world’s present population(3)/ of infants, children 

 

20.The joy of discovery(1)/ is a very real 
incentive(2)/ to research despite of (3)/ the 

 

21.With Saudi Arabia, UAE, Bahrain(1)/and 
out ties (2)/with Qatar, the Arab 

world has (3)/plunged into further turmoil.(4) 

A) 1  B) 2  
D) 4  E) No Error
B cutting off is the correct phrase. 
 
22.This weekend, a challenge issued by the 
Election(1) Commission to doubters to prove that 
electronic(2) voting machines could be tampered 
ended (3)/predictably: no one took up the 
challenge.(4) 
A) 1  B) 2  
D) 4  E) No Error
C Tampered is to be followed by “with” . 
Tampered with is the correct usage. 
 
23.On November 8, when the prime minister 
announced demonetization (1)/of all 500 and 
1,000 rupee notes freezing 86% of (2)/India’s 
economy, it was indeed a surgical (3)/strike at 
unaccounted cash on the economy.(4)
A) 1  B) 2  
D) 4  E) No Error
 
24.In a regime which terror
entrepreneurs,(1)/ where the taxman is allowed to 
become an extortionist, (2)/where investigation 
agencies are hand on glove with(3)/ government, 
business cannot hope to flourish.(4)
A) 1  B) 2  
D) 4  E) No Error
C  Hand in glove is the idiom that means working 
together. 
 
25.Disagreement among India’s top(1)/ 
policymakers over the appropriate(2)/ interest rate 
are neither(3)/ new nor entirely unexpected.(4)
A) 1  B) 2  
D) 4  E) No Error
A Disagreements will be used here .
 
26.Individuals, or even entire professionals,(1)/ 
get important questions wrong(2)/ because of 
error or(3)/ because of the limitations of a fields 
itself.(4) 
A) 1  B) 2  
D) 4  E) No Error 
D  a field.  
 
27.The two incidents left dozens of people (1)/ 
dead and wounded. The perpetrators(2)/ were all 
home-growing radicals with their(3)/ families 
originating from different Muslim states.(4)
A) 1  B) 2  
D) 4  E) No Error
C Home- grown is the correct phrase.
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 C) 3 
E) No Error 

cutting off is the correct phrase.  

22.This weekend, a challenge issued by the 
Election(1) Commission to doubters to prove that 

c(2) voting machines could be tampered 
ended (3)/predictably: no one took up the 

 C) 3 
E) No Error 

Tampered is to be followed by “with” . 
Tampered with is the correct usage.  

23.On November 8, when the prime minister 
announced demonetization (1)/of all 500 and 
1,000 rupee notes freezing 86% of (2)/India’s 
economy, it was indeed a surgical (3)/strike at 
unaccounted cash on the economy.(4) 

 C) 3 
E) No Error D  In the economy. 

24.In a regime which terrorizes business and 
entrepreneurs,(1)/ where the taxman is allowed to 
become an extortionist, (2)/where investigation 
agencies are hand on glove with(3)/ government, 
business cannot hope to flourish.(4) 

 C) 3 
E) No Error 

the idiom that means working 

25.Disagreement among India’s top(1)/ 
policymakers over the appropriate(2)/ interest rate 
are neither(3)/ new nor entirely unexpected.(4) 

 C) 3 
E) No Error 

Disagreements will be used here . 

26.Individuals, or even entire professionals,(1)/ 
get important questions wrong(2)/ because of 
error or(3)/ because of the limitations of a fields 

 C) 3 
E) No Error  

27.The two incidents left dozens of people (1)/ 
dead and wounded. The perpetrators(2)/ were all 

growing radicals with their(3)/ families 
originating from different Muslim states.(4) 

 C) 3 
E) No Error 

grown is the correct phrase. 



 

3 
 www.maruthischoolofbanking.com

 

28.Minicoy is matriarchal and women controls
the local economy as its men remain(2)/ away 
from the island for as many as(3)/ nine months of 
the year on merchant navy ships (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
A  control is correct here as women is plural . 
 
29.Many of the speakers of Bishnupriya
(1)/ fled from Manipur during the 18th and 
19th(2)/ centuries and sought refuge(3)/ in 
neighboring regions.(4) 
A) 1  B) 2  C) 3 
D) 4  E) No Error 
E 

 
30.Ramzan, ninth month of the Islamic 
calendar(1)/, is observed by Muslims worldwide 
as a month of fasting(2)/ to commemorate the 
first(3)/ revelation of the Holy Quran to 
Muhammad.(4) 
A) 1  B) 2  C) 3 
D) 4  E) No Error 
A The ninth will be used here. As “The” is used 
before ordinals like first, second and so on. 
 
31.It could be the first initial public offering (1)/ 
by a major asset management company in (2)/ 
India though smaller rival UTI MF’s IPO plans 
(3)/ has been in the works for a long time. (4)
A) 1  B) 2  C) 3 
D) 4  E) No Error 
D  Replace has with have as plans is a plural term.
  
32.The Court observed that the (1)/ 50 per cent 
institutional quota in AMU and BHU PG medical 
courses (2) was reflected in its prospectus that was 
(3)/ not under challenge before the HC.(4)
A) 1 B) 2 C) 3 D) 4 E) No Error
C  Replace its with their. 
 
Prospectus is of – AMU and BHU PG medical 
courses,, not court. So ‘their’ is used  
33.Many of them (1)/ would have fuelled 
accusations (2)/ that the bureau was at (3)/ danger 
of being suborned.(4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
C  Replace at with in  
 
34.Had he not reached in time (1)/ he would have 
missed (2) a golden opportunity which comes ((3)/ 
once in a while. 4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
E 
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28.Minicoy is matriarchal and women controls(1)/ 
the local economy as its men remain(2)/ away 
from the island for as many as(3)/ nine months of 

 
E) No Error 

control is correct here as women is plural .  

29.Many of the speakers of Bishnupriya Manipuri 
(1)/ fled from Manipur during the 18th and 
19th(2)/ centuries and sought refuge(3)/ in 

30.Ramzan, ninth month of the Islamic 
calendar(1)/, is observed by Muslims worldwide 

f fasting(2)/ to commemorate the 
first(3)/ revelation of the Holy Quran to 

The ninth will be used here. As “The” is used 
before ordinals like first, second and so on.  

public offering (1)/ 
by a major asset management company in (2)/ 
India though smaller rival UTI MF’s IPO plans 
(3)/ has been in the works for a long time. (4) 

Replace has with have as plans is a plural term. 

ourt observed that the (1)/ 50 per cent 
institutional quota in AMU and BHU PG medical 
courses (2) was reflected in its prospectus that was 
(3)/ not under challenge before the HC.(4) 

E) No Error 

AMU and BHU PG medical 
  

33.Many of them (1)/ would have fuelled 
accusations (2)/ that the bureau was at (3)/ danger 

E) No Error 

reached in time (1)/ he would have 
missed (2) a golden opportunity which comes ((3)/ 

E) No Error 

35.New York-based Warburg Pincus, which 
manages $44 billion (1) across various investment 
vehicles globally, has been a(2) leading investor 
in the Telecom-Media-Technology sector(3) since 
more than 25 years. (4) 
A) 1 B) 2 C) 3 D) 4
D Replace since with for
  
36.South Korea said last week four more 
launchers have (1)/ been introduced, months after 
the controversial(2)/ battery was deployed in 
March(3)/ with just two of its maximum load of 
six launchers.(4)/ 
A) 1  B) 2 C) 3 D) 4
A  Replace have with had ,the sentence is indirect 
so the past form will be used.
  
37.Former United States President 
(1)/and Canadian Prime Minister Justin Trudeau 
met once (2)/again on Tuesday night on a 
dinner(3)/ in Trudeau’s hometown of Montreal.(4)
A) 1 B) 2 C) 3 D) 4
C  Replace on with for  
 
38.The ministry of Labour conducts its basic 
survey (1)/ on trade unions every year 2)/ 
gathering information with all( 3) labour unions as 
of June 30. 4) 
A) 1 B) 2 C) 3 D) 4
C  Replace ‘with’ with about
 
39.The government is made it mandatory (1)/for 
pharmacies to send copies of medical(2)/ 
along with prescriptions(3)/ of drugs and details of 
patients. (4) 
A) 1 B) 2 C) 3 D) 4
A  Replace is with has . 
 
40.I am totally opposed to farm loan waivers 
(1)/as it will undermine the integration of 
farmers.(2)/ When state governments
announce(3)/ farm loan waivers, it is a knee
reaction.(4) 
A) 1 B) 2 C) 3 D) 4
B Replace integration with integrity.
  
41.South Africa captain AB de Villiers insists his 
team remains (1)/ confident to do well in the 
Champions Trophy (2)/ 
defeat at the hands of England (3)/ going into the 
big event beginning tomorrow. (4)
A) 1 B) 2 C) 3 D) 4
B  confident to do well=> confident of doing well 
[confident is followed by of] 
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based Warburg Pincus, which 
manages $44 billion (1) across various investment 

been a(2) leading investor 
Technology sector(3) since 
 

D) 4 E) No Error 
Replace since with for 

36.South Korea said last week four more 
launchers have (1)/ been introduced, months after 

roversial(2)/ battery was deployed in 
March(3)/ with just two of its maximum load of 

D) 4 E) No Error 
Replace have with had ,the sentence is indirect 

so the past form will be used. 

37.Former United States President Barack Obama 
(1)/and Canadian Prime Minister Justin Trudeau 
met once (2)/again on Tuesday night on a 
dinner(3)/ in Trudeau’s hometown of Montreal.(4) 

D) 4 E) No Error 
 

38.The ministry of Labour conducts its basic 
ey (1)/ on trade unions every year 2)/ 

gathering information with all( 3) labour unions as 

D) 4 E) No Error 
Replace ‘with’ with about 

39.The government is made it mandatory (1)/for 
pharmacies to send copies of medical(2)/ bills 
along with prescriptions(3)/ of drugs and details of 

D) 4 E) No Error 
Replace is with has .  

40.I am totally opposed to farm loan waivers 
(1)/as it will undermine the integration of 
farmers.(2)/ When state governments 
announce(3)/ farm loan waivers, it is a knee-jerk 

D) 4 E) No Error 
Replace integration with integrity. 

41.South Africa captain AB de Villiers insists his 
team remains (1)/ confident to do well in the 
Champions Trophy (2)/ despite a dramatic series 
defeat at the hands of England (3)/ going into the 
big event beginning tomorrow. (4) 

D) 4 E) No Error 
confident to do well=> confident of doing well 

[confident is followed by of]  
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42.These measures have (1)/ been taken with (2)/ 
a view to increase (3)/ the company’s profits. (4)
A) 1 B) 2 C) 3 D) 4 E) No Error
C  increase=> increasing [with a view to is 
followed by V1+ing] 
 
43.You can’t avoid to do (1)/ your homework, (2)/ 
so you might as well (3)/ get started now. (4)
A) 1 B) 2 C) 3 D) 4 E) No Error
A to do=> doing ; [avoid is followed by V1+ing]
 
44.I shall scarcely be (1)/ able to avail of (2)/ your 
hospitality, gentlemen, (3)/ it is already time for 
me to go. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
B  reflexive pronoun should be used after avail. 
So use avail myself of  
 
45.Would you please (1)/ order for bread (2)/ and 
butter for (3)/ all of us.(4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
B  remove for after orde; 
 
46.There is a Sumerian proverb (1)/ which sta
that if you lie, (2)/ and then tell the truth, (3)/ the 
truth will be considered as a lie. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
D  remove as; [don’t use as after considered ]
  
47.Chelsea like to play on the counter, (1)/ and do 
not mind to soak up (2)/ pressure in order to break 
quickly (3)/ when the chance arises. (4)
A) 1 B) 2 C) 3 D) 4 E) No Error
B  to soak=> soaking [mind should be followed 
by gerund]  
 
48.He called to one (1)/ of his officers and bade 
(2)/ him to sit down and write a (3)/ short 
for him. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
C  remove to; [use plain infinitive(V1) after bade; 
remove to]  
 
49.There were too many (1)/ managers in the 
department, (2)/ so the director decided to (3)/ let 
some of them to go. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
D  Remove to; let some of them go; [Let is 
followed by V1 and not to + V1] 
 
50.After the hue and cry over anti-Romeo squads 
(1)/ and crackdown on illegal slaughter houses in 
Uttar Pradesh, (2)/ the latest focus of attention has 
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been taken with (2)/ 
a view to increase (3)/ the company’s profits. (4) 

E) No Error 
increase=> increasing [with a view to is 

43.You can’t avoid to do (1)/ your homework, (2)/ 
now. (4) 

E) No Error 
to do=> doing ; [avoid is followed by V1+ing] 

44.I shall scarcely be (1)/ able to avail of (2)/ your 
hospitality, gentlemen, (3)/ it is already time for 

E) No Error 
reflexive pronoun should be used after avail. 

45.Would you please (1)/ order for bread (2)/ and 

E) No Error 

46.There is a Sumerian proverb (1)/ which states 
that if you lie, (2)/ and then tell the truth, (3)/ the 

E) No Error 
remove as; [don’t use as after considered ] 

47.Chelsea like to play on the counter, (1)/ and do 
pressure in order to break 

quickly (3)/ when the chance arises. (4) 
E) No Error 

to soak=> soaking [mind should be followed 

48.He called to one (1)/ of his officers and bade 
(2)/ him to sit down and write a (3)/ short order 

E) No Error 
remove to; [use plain infinitive(V1) after bade; 

49.There were too many (1)/ managers in the 
department, (2)/ so the director decided to (3)/ let 

E) No Error 
Remove to; let some of them go; [Let is 

Romeo squads 
(1)/ and crackdown on illegal slaughter houses in 
Uttar Pradesh, (2)/ the latest focus of attention has 

become (3)/ law and order in the state. (4)
A) 1 B) 2 C) 3 D) 4
E  No Error  
  
51.My mother is working (1)/ in a bank and (2)/ 
my sister studies (3)/ in a college. (4)
A) 1 B) 2 C) 3 D) 4
A  My mother works; [Here present continuous 
tense should not be used,use simple resent for 
routine action. ] 
 
52.When Suresh reached (1)/ his village, he found 
that (2)/ the news about (3)/ him preceded him. (4)
A) 1 B) 2 C) 3 D) 4
D  him had preceded him. [Past Perfect]
 
53.Although I am playing (1)/ football for more 
than (2)/ two years I have not been able (3)/ to 
score a single goal. (4) 
A) 1 B) 2 C) 3 D) 4
A I am => I have been [Present Perfect 
Continous]  
 
54.I am going (1)/ to buy a (2)/ Laptop when the 
(3)/ prices comes down. (4)
A) 1 B) 2 C) 3 D) 4
D  prices=> price 
 
55.Only some unwritten rule (1)/ forbade men 
from not (2)/ expressing their feelings (3)/ with a 
flood of tears. (4) 
A) 1 B) 2 C) 3 D) 4
B  remove not; forbade means refuse to allow
 
56.I realized that (1)/ even though I wanted (2)/ to 
eat, I does not (3)/ have enough time. (4)
A) 1 B) 2 C) 3 D) 4
C  does not=> did not  
 
57.He said that (1)/ he was going to hospital (2)/ 
and wanted to know (3)/ that I could accompany 
him. (4) 
A) 1 B) 2 C) 3 D) 4
D  that=> if  
 
58.The appeal of the victims (1)/ for the transfer 
of the cases (2)/ related to riots to some other (3)/ 
States have been accepted. (4)
A) 1 B) 2 C) 3 D) 4
D  have=> has [Subject-
 
59.Shraddha and Siddharth both (1)/ wanted to go 
to Goa, (2)/ but neither of them could (3)/ get the 
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aw and order in the state. (4) 
D) 4 E) No Error 

51.My mother is working (1)/ in a bank and (2)/ 
my sister studies (3)/ in a college. (4) 

D) 4 E) No Error 
My mother works; [Here present continuous 

tense should not be used,use simple resent for 

52.When Suresh reached (1)/ his village, he found 
that (2)/ the news about (3)/ him preceded him. (4) 

D) 4 E) No Error 
eceded him. [Past Perfect] 

53.Although I am playing (1)/ football for more 
than (2)/ two years I have not been able (3)/ to 

 
D) 4 E) No Error 

I am => I have been [Present Perfect 

buy a (2)/ Laptop when the 
(3)/ prices comes down. (4) 

D) 4 E) No Error 

55.Only some unwritten rule (1)/ forbade men 
from not (2)/ expressing their feelings (3)/ with a 

D) 4 E) No Error 
remove not; forbade means refuse to allow 

56.I realized that (1)/ even though I wanted (2)/ to 
eat, I does not (3)/ have enough time. (4) 

D) 4 E) No Error 

57.He said that (1)/ he was going to hospital (2)/ 
wanted to know (3)/ that I could accompany 

D) 4 E) No Error 

58.The appeal of the victims (1)/ for the transfer 
of the cases (2)/ related to riots to some other (3)/ 
States have been accepted. (4) 

D) 4 E) No Error 
- appeal] 

59.Shraddha and Siddharth both (1)/ wanted to go 
to Goa, (2)/ but neither of them could (3)/ get the 
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time off. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
E  Sentence is Error Free  
 
60.Were you to peruse NASA’s satelli
on the average rise and fall in sea levels, (2)/ it 
shows that the seas on average has risen (3)/ 85 
mm since 1993, adding about 3.5 mm annually. 
(4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
C  seas on average has=> seas on average have
  
61.Apparel of different (1)/ types are worn by (2)/ 
people of different (3)/ parts of the country. (4)
A) 1 B) 2 C) 3 D) 4 E) No Error
B  are=> is (Apparel- Singular)  
 
62.Rishabh spent a long time (1)/ searching online 
for advise on how to (2)/ best treat his migraine
headache (3)/ using natural herbs. (4)
A) 1 B) 2 C) 3 D) 4 E) No Error
B  advise=> advice; advice- noun  
 
63.My brother has (1)/ a good many (2)/friend 
who often keep (3)/ calling him at odd hours. (4)
A) 1 B) 2 C) 3 D) 4 E) No Error
C  friend=> friends [a good many- takes plural 
noun ]  
 
64.It’s hard to (1)/ imagine a (2)/ more miscasted 
(3)/ version of ‘Julius Caesar (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
C  miscasted=> miscast [ All three verb form of 
miscast is miscast]  
 
65.He was (1)/ happy have been (2)/ asked to 
deliver (3)/ the inaugural speech. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
B happy to have been 
 
66.You could take (1)/ a second opinion (2)/ on 
your (3)/ mother’s medical reports. (4)
A) 1 B) 2 C) 3 D) 4 E) No Error
E 

  
67.I could (1)/ always beat you (2)/ in Cricket 
when (3)/ we were kid. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
D  kid=> kids 
 
68.Several people were killed (1)/ by lightning 
strikes, having been caught in the open (2)/ or 
having ignored warnings (3)/ to stay clear from 
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E) No Error 

60.Were you to peruse NASA’s satellite data (1)/ 
on the average rise and fall in sea levels, (2)/ it 
shows that the seas on average has risen (3)/ 85 
mm since 1993, adding about 3.5 mm annually. 

E) No Error 
seas on average has=> seas on average have 

different (1)/ types are worn by (2)/ 
people of different (3)/ parts of the country. (4) 

E) No Error 

62.Rishabh spent a long time (1)/ searching online 
for advise on how to (2)/ best treat his migraine 
headache (3)/ using natural herbs. (4) 

E) No Error 

63.My brother has (1)/ a good many (2)/friend 
who often keep (3)/ calling him at odd hours. (4) 

E) No Error 
takes plural 

64.It’s hard to (1)/ imagine a (2)/ more miscasted 

E) No Error 
miscasted=> miscast [ All three verb form of 

ve been (2)/ asked to 
 

E) No Error 

66.You could take (1)/ a second opinion (2)/ on 
your (3)/ mother’s medical reports. (4) 

E) No Error 

always beat you (2)/ in Cricket 

E) No Error 

68.Several people were killed (1)/ by lightning 
strikes, having been caught in the open (2)/ or 
having ignored warnings (3)/ to stay clear from 

electricity transmission lines. (4)
A) 1 B) 2 C) 3 D) 4
D  clear from=> clear of; = stay away from
 
69.Vinita was feeling (1)/a bit below the weather 
today, (2)so she chose to (3)/ take the day off. (4)
A) 1 B) 2 C) 3 D) 4
B  a bit under the weather
 
70.Pune girl Muskan Abdullah Pathan who 
emerged (1)/ as the national topper at the (2)/ 
Indian Certificate for Secondary Education (ICSE) 
Class 10 examinations says the news (3)/ has 
taken her on complete surprise. (4)
A) 1 B) 2 C) 3 D) 4
D  taken her on=> taken her by
  
71.Every doctor, patient and nurse (1)/ were 
concerned (2)/ about the strike (3)/ in the hospital. 
(4) 
A) 1 B) 2 C) 3 D) 4
B  were=> was ; Every- 
 
72.While governments in 
electronic means to streamline their procurement 
process, (2)/ the data generated by this portals 
have not been (3)/ used to derive any meaningful 
information. (4) 
A) 1 B) 2 C) 3 D) 4
C  this=> these [plural] 
 
73.Amidst the outpouring of literature on global 
warming (1)/ and what the world should do about 
them, (2)/ there is very little on the relationship 
(3)/ between capital and global warming. (4)
A) 1 B) 2 C) 3 D) 4
B  them=> it 
 
74.In 1997, the Indian gov
for(1)/ the upstream hydrocarbon industry to 
private investors (2)/ through a structured process 
of reforms and awarded a number of (3)/ 
exploration licenses through several rounds of 
competitive bids. (4) 
A) 1 B) 2 C) 3 D) 4
A  opened for=> opened up; the government 
opened up the hydrocarbon industry for private 
players.  

 
75.In sentence Justice C S Karnan to (1)/ six 
months’ imprisonment for (2)/ contempt of court 
on 9 May, (3)/ the Supreme Court has caused 
itself immense damage. (4)
A) 1 B) 2 C) 3 D) 4
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electricity transmission lines. (4) 
D) 4 E) No Error 

clear from=> clear of; = stay away from 

69.Vinita was feeling (1)/a bit below the weather 
today, (2)so she chose to (3)/ take the day off. (4) 

D) 4 E) No Error 
under the weather-to feel ill  

70.Pune girl Muskan Abdullah Pathan who 
emerged (1)/ as the national topper at the (2)/ 
Indian Certificate for Secondary Education (ICSE) 
Class 10 examinations says the news (3)/ has 
taken her on complete surprise. (4) 

D) 4 E) No Error 
taken her on=> taken her by 

71.Every doctor, patient and nurse (1)/ were 
concerned (2)/ about the strike (3)/ in the hospital. 

D) 4 E) No Error 
 singular 

72.While governments in India have adopted (1)/ 
electronic means to streamline their procurement 
process, (2)/ the data generated by this portals 
have not been (3)/ used to derive any meaningful 

D) 4 E) No Error 
 

the outpouring of literature on global 
warming (1)/ and what the world should do about 
them, (2)/ there is very little on the relationship 
(3)/ between capital and global warming. (4) 

D) 4 E) No Error 

74.In 1997, the Indian government fully opened 
for(1)/ the upstream hydrocarbon industry to 
private investors (2)/ through a structured process 
of reforms and awarded a number of (3)/ 
exploration licenses through several rounds of 

D) 4 E) No Error 
opened for=> opened up; the government 

opened up the hydrocarbon industry for private 

75.In sentence Justice C S Karnan to (1)/ six 
months’ imprisonment for (2)/ contempt of court 
on 9 May, (3)/ the Supreme Court has caused 

se damage. (4) 
D) 4 E) No Error 
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A  sentence=> sentencing  
 
76.The interest to create happiness (1)/ in a 
gloomy world riddled with (2)/ crises and turmoil 
appears to be (3)/ the new agenda of international 
organisations. (4) 
A) 1  B) 2 C) 3 D) 4 E) No Error
E 

 
77.Paying farmers for ecosystem services that 
they provide could be a novel way to achieve (1)/ 
multiple goals to doubling the farm incomes, (2)/ 
reducing rural–urban migration (3)/ and reducing 
pressure on urban infrastructure in India
A) 1 B) 2 C) 3 D) 4 E) No Error
B  goals to doubling=> goals of doubling 
 
78.An increased disposable income (1)/ among 
Indians have expanded (2)/ their tobacco 
purchasing (3)/ power and tobacco consumption. 
(4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
B  have=> has  
 
79.Afghanistan is clear unprepared for a massive 
influx of refugees, (1)/ and human rights groups 
have raised concerns (2)/ about their future in a 
country ripped apart by war and terrorism (3)/ 
with a worsening security situation. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
A  clear=> clearly;  
 
80.Over the last 22 years, (1)/ there has been 
attempts (2)/ by different governments to merge 
(3)/ state-owned oil companies to create a mega 
company. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
B  has=> have; [attempts]  
  
81.A few years ago, (1)/ to my wife’s great 
delight, (2)/ her father had gave her (3)/ the family 
heirloom photo albums. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
C  remove had; gave already represents past
 
82.A Sukhoi Su-30 aircraft, that took off (1)/ from 
Tejpur in Assam for a routine (2)/ training 
mission, has been (3)/ reporting missing, Indian 
Air Force sources said. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
D  reporting=> reported  
 
83.The Reserve Bank of India on Monday said it 
would reconstitute (1)/ and expand the oversight 
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76.The interest to create happiness (1)/ in a 
gloomy world riddled with (2)/ crises and turmoil 
appears to be (3)/ the new agenda of international 

E) No Error 

77.Paying farmers for ecosystem services that 
they provide could be a novel way to achieve (1)/ 
multiple goals to doubling the farm incomes, (2)/ 

urban migration (3)/ and reducing 
pressure on urban infrastructure in India. (4) 

E) No Error 
goals to doubling=> goals of doubling  

78.An increased disposable income (1)/ among 
Indians have expanded (2)/ their tobacco 
purchasing (3)/ power and tobacco consumption. 

E) No Error 

79.Afghanistan is clear unprepared for a massive 
influx of refugees, (1)/ and human rights groups 
have raised concerns (2)/ about their future in a 
country ripped apart by war and terrorism (3)/ 
with a worsening security situation. (4)  

E) No Error 

80.Over the last 22 years, (1)/ there has been 
attempts (2)/ by different governments to merge 

owned oil companies to create a mega 

E) No Error 

81.A few years ago, (1)/ to my wife’s great 
delight, (2)/ her father had gave her (3)/ the family 

E) No Error 
remove had; gave already represents past 

took off (1)/ from 
Tejpur in Assam for a routine (2)/ training 
mission, has been (3)/ reporting missing, Indian 

E) No Error 

83.The Reserve Bank of India on Monday said it 
reconstitute (1)/ and expand the oversight 

committee to deal (2)/ about increasing bad loans, 
and had sought information (3)/ from banks 
regarding the current status of large stressed 
assets. (4) 
A) 1 B) 2  C) 3 D) 4
C  deal with; is the correc
 
84.The government has begun discussions to bring 
rules (1)/ pertaining to the anti
provision under Goods and Services Tax (GST) 
(2)/ to ensure that companies benefiting from tax 
reduction (3)/ ensure a commensurate lowering of 
prices from the consumer. (4)
A) 1 B) 2 C) 3 D) 4
D  from=> for; prices are being lowered for 
customers  
 
85.India has long prided itself (1)/ on its spiritual 
eclecticism, (2)/ its expansive ability to 
accommodate (3)/ diverse faiths and 
A) 1 B) 2 C) 3 D) 4
E 

 

86.Indian restaurants and hotels (1)/ have started 
to featuring (2)/ among the top in the world (3)/ in 
popular online polls and critics ratings. (4)
A) 1 B) 2 C) 3 D) 4
B  remove to  
 
87.It is hard to believe that a government (1)/ so 
committed to promoting Incredible India (2)/ 
would not support the players makes India indeed 
(3)/ an incredible food and hospitality destination. 
(4) 
A) 1 B) 2 C) 3 D) 4
C  makes=> making ; support the players ; which 
player? Players that are making India an 
incredible……  
 
88.Gross non-performing assets (NPAs) have 
been growing (1)/ steadily since the global 
economic crisis (2)/ as pressure has come (3)/ on 
banks to classification p
A) 1 B) 2 C) 3 D) 4
D  classify 
 
89.As disruptive innovations and new business 
models (1)/ transform organisations and 
communities (2)/around the world, its 
sustainability is (3)/ threatened by a plethora of 
cyber risks. (4) 
A) 1 B) 2 C) 3 D) 4
C  its=> their  
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committee to deal (2)/ about increasing bad loans, 
and had sought information (3)/ from banks 
regarding the current status of large stressed 

D) 4 E) No Error 
deal with; is the correct preposition 

84.The government has begun discussions to bring 
rules (1)/ pertaining to the anti-profiteering 
provision under Goods and Services Tax (GST) 
(2)/ to ensure that companies benefiting from tax 
reduction (3)/ ensure a commensurate lowering of 

rices from the consumer. (4) 
D) 4 E) No Error 

from=> for; prices are being lowered for 

85.India has long prided itself (1)/ on its spiritual 
eclecticism, (2)/ its expansive ability to 
accommodate (3)/ diverse faiths and beliefs. (4) 

D) 4 E) No Error 

86.Indian restaurants and hotels (1)/ have started 
to featuring (2)/ among the top in the world (3)/ in 
popular online polls and critics ratings. (4) 

D) 4 E) No Error 

hard to believe that a government (1)/ so 
committed to promoting Incredible India (2)/ 
would not support the players makes India indeed 
(3)/ an incredible food and hospitality destination. 

D) 4 E) No Error 
making ; support the players ; which 

player? Players that are making India an 

performing assets (NPAs) have 
been growing (1)/ steadily since the global 
economic crisis (2)/ as pressure has come (3)/ on 
banks to classification properly. (4) 

D) 4 E) No Error 

89.As disruptive innovations and new business 
models (1)/ transform organisations and 
communities (2)/around the world, its 
sustainability is (3)/ threatened by a plethora of 

D) 4 E) No Error 
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90.For around a month a totally unfounded 
WhatsApp rumour (1)/ has spread among villagers 
in Jharkhand (2)/ that they are been stalked by 
child lifters, warning them against (3)/ strangers 
who could be members of the child lifting gang. 
(4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
C  been=> being  
  
91.Anil Madhav Dave, whose selection (1)/ as 
Environment Minister last July (2)/ surprised 
many, (3)/dies this morning. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
D  dies -=> died 
 
92.NASA probes have spotted (1)/ a man
barriers around the Earth (2)/ that prevents high
energy space (3)/ radiation from reaching the 
planet. (4)  
A) 1 B) 2 C) 3 D) 4 E) No Error
B  use of a and barriers together is wrong; either 
remove a; or use barrier.  
 
93.Sleepwalkers are often (1)/ found in a trance 
state (2)/ where they wander aimlessly (3)/ 
without conscious thought. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
E  Sentence is error free 
 
94.For the second year in a row, (1)/ Flipkart and 
Amazon have emerged (2)/ as the most sought
after company (3)/ where Indian professionals 
want to work. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
C  company=> companies  
 
95.Dave was supposed to (1)/ go to Coimbatore 
today to attend (2)/ a function but he complains of 
(3)/ uneasiness last night and had to be taken to 
AIIMS. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
C  complains=> complained  
 
96.Kerala was one of the first states (1)/ in the 
country to develop a (2)/ transgender policy that 
aims to (3)/ bring it into the mainstream by 
offering jobs and reservations. (4) 
A) 1 B) 2 C) 3 D) 4 E) No Error
D  it=> them [them for transgender]  
 
97.Manpreet Singh has been named the captain 
(1)/ of the Indian hockey team that will leave (2)/ 
for Germany’s 3 Nations Invitational Tournament, 
(3)/ followed of England’s World League 
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90.For around a month a totally unfounded 
WhatsApp rumour (1)/ has spread among villagers 
in Jharkhand (2)/ that they are been stalked by 
child lifters, warning them against (3)/ strangers 

the child lifting gang. 

E) No Error 

91.Anil Madhav Dave, whose selection (1)/ as 
Environment Minister last July (2)/ surprised 

E) No Error 

92.NASA probes have spotted (1)/ a man-made 
barriers around the Earth (2)/ that prevents high-
energy space (3)/ radiation from reaching the 

E) No Error 
use of a and barriers together is wrong; either 

93.Sleepwalkers are often (1)/ found in a trance 
state (2)/ where they wander aimlessly (3)/ 

E) No Error 

94.For the second year in a row, (1)/ Flipkart and 
Amazon have emerged (2)/ as the most sought-
after company (3)/ where Indian professionals 

E) No Error 

posed to (1)/ go to Coimbatore 
today to attend (2)/ a function but he complains of 
(3)/ uneasiness last night and had to be taken to 

E) No Error 

96.Kerala was one of the first states (1)/ in the 
country to develop a (2)/ transgender policy that 
aims to (3)/ bring it into the mainstream by 

E) No Error 
 

97.Manpreet Singh has been named the captain 
(1)/ of the Indian hockey team that will leave (2)/ 
for Germany’s 3 Nations Invitational Tournament, 
(3)/ followed of England’s World League 

Semifinal. (4) 
A) 1 B) 2 C) 3 D) 4
D  followed of=> follow
 
98.WhatsApp suffered a (1)/ global outage on 
Wednesday, (2)/ by users reporting problems (3)/ 
accessing the app. (4) 
A) 1 B) 2 C) 3 D) 4
C  by=> with  
 
99.Aishwarya Rai Bachchan sartorial choices (1)/ 
have always been among the (2)/ 
and the most debated ones (3)/ at the Cannes red 
carpet. (4) 
A) 1 B) 2 C) 3 D) 4
A  Aishwarya Rai Bachchan’s 
 
100.Pushing the boundaries (1)/ for budget and 
time, solo travellers (2)/ today are more than 
willing (3)/ to explore and experiment. (4)
A) 1 B) 2 C) 3 D) 4
B  for=> of [you push the boundary of something]

  

Visit 

http://maruthischoolofbanking.com

For Answer Key and more Updated 
Materials

ALL THE BEST

Want to pass 

Everywhere

Want a job –

At MSB

, V.K.K.Menon Road,Gandhipuram,Coimbatore-44.9600342223 

D) 4 E) No Error 
followed of=> followed by  

98.WhatsApp suffered a (1)/ global outage on 
Wednesday, (2)/ by users reporting problems (3)/ 

D) 4 E) No Error 

99.Aishwarya Rai Bachchan sartorial choices (1)/ 
have always been among the (2)/ most awaited 
and the most debated ones (3)/ at the Cannes red 

D) 4 E) No Error 
Aishwarya Rai Bachchan’s  

100.Pushing the boundaries (1)/ for budget and 
time, solo travellers (2)/ today are more than 

and experiment. (4) 
D) 4 E) No Error 

for=> of [you push the boundary of something] 
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